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Model answers

P5 — Advanced Performance Management (June 2025):

Report to: The Board of Directors, Blue & White From: The Accountant — June 2016 Subject:
Performance Reporting and Management Issues at Blue & White

Introduction
This report aims to:

e Assess Blue & White’s current performance.

e Propose two new performance measures.

e Analyze the impact of adjustments on departmental performance.

o Use expected return on capital employed in new store decisions.

o Discuss the role of the proposed new information system in enhancing performance.

(a) Performance Reporting
Strengths and Weaknesses:

e Mission: The report fails to address the core objective of being the “first choice for
customers” due to lack of external data (e.g., market share or repeat purchase
information).

e Decision Information: No clear metrics on quality/service/price and no competitive
benchmarking.

e Short-term Focus: Limited to comparisons with budget and prior year, with no forward-
looking insights or non-financial KPIs.

e Presentation Quality: Numerically clear but lacks narrative commentary; includes
excessive data that could be simplified.

(14 marks)
(b) Indicators of Asset Utilization
o Revenue and operating profit per square metre are effective metrics to assess space

utilization efficiency.
e Human resource usage should be considered using indicators like revenue per employee.

Department Revenue/m? ($) Operating Profit ($m) Profit/m? ($)
First 15,754 159 1,114



Department Revenue/m? ($) Operating Profit ($m) Profit/m? ($)
Second 13,501 499 608

(8 marks)

(c) Departmental Performance Evaluation
e The current measure (operating profit) is insufficient as it overlooks capital usage.
o Store refurbishment is delayed to reduce depreciation, which is unsustainable.

e Residual Income (RI) is a better alternative, but requires accurate estimation of capital
employed and an appropriate notional interest rate.

(8 marks)
(d) Use of Expected Return on Capital Employed

Investment Feasibility Analysis for New Store:

Scenario Expected Revenue ($m) Probability (%) Operating Margin (%) Expected Profit

Low 12.5 20% 4.1% 0.5125
Medium 13.0 50% 4.3% 0.559
High 13.5 30% 4.4% 0.594

o Expected Return = 13.34% > Required Return (13%) — Investment is acceptable.
e A probabilistic approach is justified given the frequency of such decisions and the
availability of predictive data.

(8 marks)
(e) New Information System — Loyalty Card

e Capital Requirement: $100 million (equivalent to 24 stores).
e Function: To collect and store customer purchase data for analysis in a data warehouse.
o Benefits:
o Enhances customer loyalty and understanding of preferences.
Improves advertising campaigns, product selection, and pricing.
Builds precise marketing profiles.
Supports product association analysis for promotional bundling.
Enables product portfolio reduction through Pareto analysis to eliminate
unprofitable items.

O O O O

(8 marks)

Professional marks will be awarded for the format, style, and structure of your discussion.



(4 marks)

(total 50mark)

Answer to Question 2, Section (B):

(A) Arguments Supporting Profitability as a Comprehensive Indicator (8 marks):

1.
2.

98]

Nowv e

0 %0

1.

Using profitability as a standard reduces reliance on other metrics.

It simplifies the process of quantitative analysis.

It is a comprehensive measure of performance, assuming the ability to balance costs and
returns.

Enables decentralization in decision-making.

Profitability-based metrics facilitate comparisons between different activities.
Incentives tied to profitability targets are strong motivators.

Profitability measurement techniques are long-established and well-grounded in
accounting standards.

Profit is the net result of success in marketing and cost control.

Profitability can be applied to any profit-oriented organization.

. It can be linked to outputs (e.g., sales) or inputs (e.g., employee profitability or total

investment).

It helps management direct resources and aids shareholders in capital allocation
decisions.

(B) Disadvantages of Using Profitability as the Sole Measure (9 marks):

N —

ORISR W

Not all organizations consider profitability their sole objective.

Without additional standards, profitability does not reflect external factors (like cash or
inflation).

It may be subject to manipulation—either in financial reports or internal data.

A company may be profitable yet face liquidity issues.

Exclusive use encourages short-term policies.

May neglect areas that need development.

Profit is defined by potentially flexible accounting rules.

Profitability should be linked to risk and working capital.

Encourages profit center managers but not cost center managers.

(C) Problems in Using Non-Financial Measures in Control (8 marks):

1.
2.

An excess of varied reports may cause conflicting signals or hinder operations.
Difficult to prioritize the importance of different standards.



3. Focusing solely on non-financial measures may overlook the ultimate goal: profit
maximization.

4. Some metrics are hard to measure precisely.

There may be conflicting results among different criteria.

6. Unmeasured activities may be neglected if such metrics are used as performance
indicators.

hd

Answer to Question 3, Section (B):

Customer Classification and Project Costing System The company segments customers into
four groups:

1. Farmers

2. Government entities
3. Sports centers

4. Building contractors

A project costing system is expected to allocate expenses and revenues per project, allowing
calculation of profit for each customer group and overall project profitability.

1. Sources of Project Profitability Data:

e Extracted from customer contracts or billing documents for completed work.
2. Direct Costs:

e Materials: Based on material requests and pricing tied to each project.

e Labor costs: Taken from project-specific payroll records.

e Rented equipment: Reflected in rental invoices.

3. Overhead Costs:

o Sales/contract acquisition costs: Directly assigned to the contract.

e Design and execution planning: Charged per contract individually.

o Inventory delivery: Calculated per kilometer or rental invoices if outsourced.

o Inventory storage: Determined for each project separately.

e Maintenance costs: Charged to the project if applicable.

e Miscellaneous expenses: Allocated if directly related to the project. (10 marks)

4. System Objectives:

o Highlight differences in project profitability.
e Improve pricing accuracy and decision-making. (8 marks)

5. Setup and Operational Costs:



e Setup Costs:
o Hard to estimate, including management time for system design/testing.
o Operational Costs:
o Data collection, entry, and management accountant costs.
o Key Decision:
o Depends on comparing the system’s expected benefits with its cost.
o Main value lies in profitability reports, especially for pricing decisions.
o Problem: hard to estimate actual benefit before system implementation. (7 marks)

(total 25 marks)

Question 4 — Part B Answer:

A. Financial Analysis:

Item Formula Value (in $1,000)
Quantity (Million Units) 7% % 100 million 7,000,000 units
Revenues 7 million x 0.9/1.25 5,040
Component Costs 7 million % 0.25 1,750
Packaging 7 million x 0.12 840
Distribution 6% x 5,040 302
Fixed Costs — 1,250
Profit — 898
Profit Margin Profit / Revenues x 100 17.8%
Target Profit Margin ~ — 15%
Target Profit — 757

Conclusion: The expected return on sales is 17.8%, which is higher than the target of 15%,
indicating that the project is financially viable.

B. Key Success Factors (with examples):

1. Product quality: For example, using 100% natural ingredients or heat-resistant
packaging increases customer trust.

2. Presentation quality: Such as offering the product in a modern design with attractive
packaging and student-friendly sizes.

3. Technical quality: Like using an inventory tracking system in vending machines to
reduce malfunctions.

4. External credibility: Obtaining certified quality accreditations or receiving positive
reviews from official entities.



5. Product innovation: Introducing seasonal flavors or low-calorie health-conscious
products.

6. Profit margin: Keeping costs low while maintaining value, as evident from the high
profit ratio.

C. Importance of Linking the Extranet to the Inventory Monitoring System:

Benefit to University Benefit to Snack Company
Fewer inquiries via phone and fax Faster cash cycle
Reduced discrepancies in orders/invoices Better focus on company performance
Accurate info on product availability Faster inventory turnover
Lower risk of delays and supply issues  Increased revenue
Quicker ordering and delivery process Reduced operating costs
Reduced storage levels and wait time Improved order fulfillment
Lower overall costs and greater efficiency Maximized use of assets and capacity

(A) Justification for Using the PEST Analysis Framework to Study the External
Environment in the Republic of Northistan:

PEST analysis is a strategic tool used to understand external factors that might influence Maxim
Group’s success when entering a new market like the Republic of Northistan. It examines four
dimensions: Political, Economic, Social, and Technological.

Here’s why this framework is appropriate:

1. Understanding political conditions: Knowing the government’s stability, tax policies,
and foreign investment laws is vital, as they impact operations.

2. Assessing economic conditions: It helps estimate consumers’ purchasing power,
inflation rates, and exchange rates affecting costs and revenues.

3. Evaluating social and cultural aspects: It aids in understanding consumer preferences,
dietary habits, and demographics that affect brand acceptance.

4. Grasping technological advancement: Identifying digital infrastructure and readiness
for online ordering systems or digital service adoption.

In short, the PEST framework provides a comprehensive view to support well-informed
decisions, reduce risk, and leverage opportunities.

(B) Key Challenges in Applying the PEST Framework:
Despite its usefulness, several issues arise when using PEST analysis:

1. Lack of accurate data: Especially in emerging markets or countries with limited
transparency.



Rapid changes in political/economic environments: Findings can quickly become
outdated.

Overlap of factors: Political, economic, and social influences often intertwine, requiring
deeper analysis.

Overlooking local nuances: PEST is broad and might miss specific details like local
competition or city-level customer preferences.

Need for integration with other tools: It should be combined with tools like SWOT or
Porter’s Five Forces for a full market view.

Interpretation bias: The results depend on the team’s objectivity—personal bias may
skew analysis.

Time and cost: A thorough analysis demands resources that might be scarce under
pressure to make quick decisions.



